Solutions to Chapters 3-4 Exam Review.notebook

Foundations of Math 11 - Chapter 3 and Chapter 4 Exam Review

Multiple Choice
Identify ihe choice that best completes the statement or answers the question.

i ) 1. Determine the length of fto the nearest tenth of a centimeter,

D 'Fﬁ= £
SinF sInE
€ £ =92
£ Faem Sin53" Sin70° .
£ Sin J0' = 92 s\nS3
S0 SInNT0°
E
£="1%8.2em
A) 7RB.6cm
B) 79.0cm
C) 794cm
(D) 782cem
& 2. Determine the measure of 2R to the nearest degree.
P sinR = sin P
r d P .
80’ 8.8 cm Sin R = SinBO
2.5 11.0 )
g U-EsinR = 8.8 8in 80
R 1.0cm Q < O
P : -
sinR= 0.787%
52° g
e R= sin™ (01878)
C) s R= 52°

Dy 567
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Determine the measure of @to the nearest degree.

Sin ® = S\n Y

2.9 15.0
129 cm 15.0 cm 15.o-sn®= 1A sin63°
159 fMa
63° 0 S\n Cg = O ‘7663

A) 30° _ "

B) 60° Q=80

C) 40°

@ 50° - d
. In ADEF, /D =61° d=23.9 cm, and £E = 38°. —=T =
[])]efcnnim the length of side eigitha:nearest tenth of a centimeter.  \S\N S QH:'_-E,DQ

e —=
16.8 oy nGl
@m.ozﬁ Sin38 “52‘3 asin38’
C) 17.6cm e"sl_ﬁ 6; -
D) 18.4em _S—-uﬁ’G\ Sm'&:!
. I AXYZ, £X=51°x=7.0cm, and £Z = 41°. =16.2Cm
Determine the length of side y to the nearest tenth of a cennmeter ,ﬁ e
<Y =1%0-51-41I" T“-——";(
A) 11.0cm 4\(= T h Sin SN
& soen g SinsT
i Sin \ .
8.0
o \ Sinst = LOSIn8E
it SinSl
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A s

EL S
In AQRS, g =10.0 cm, s =9.0 cm, and 25 = 61°, ' = &ainbGl"
Determine the measure of £ to the nearest degree. %%Q“ ggiﬁ—é—u-
@5 gesin@= 10.08in6\*
C) 78° Qo 9.0
D) 77° STAQ= ©.-9718
= JEE
. Determine the length oi:j{%tothe nearest centimeter. g _ 32‘\0 (0 QT g)
] gr= K*+0* 2KL cos T .
2 N« 3 = (307+ (26)2(30)R26) CoS ST
26 cm 0em (2= 900 + 676 - 1560(0.54406)
2= 7126.4240
K : LY
J g = V7264240
27 .
G j= 21.0em
C) 34cm

D) 33cm
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'__:D_ 8. Determine the length of PO to the nearest tenth of a centimeter.
. rr=pi+qi-2pqCos R 52°
AT el Lo R (eI 200K 2)Cos

iR P %= 182.6(0. 6151
83 cm r ;2; 11,131qu8qu— 12,4268
ri= 17.4632
. "‘%cm Q = m
A) 94em = ].3cm
B) %.1cm

835cm
éﬁ.&cm
:D 9. M&w:urcofﬂiomcnmldeggE$A$ ID=-+ Cl_ C\t
2bc . =
< b cos A = (9.8)*+(102.0)-000-2)
102.0 cm

— 2.(q1.8X102.0)
Cos A = 847724 +1040H ~10 040

i a 18 71277. 2
1602 cm CosA = ®791.2

A) 60° VaTE L=

%E‘f codA = 0.46A94%

A= cos™ (0.46AH)

o
B 10. In ADEF, d=13.5 cm, e= 182 cm, and £ F = 60°. A= ©2
Dietermine the measure of o the nearest tenth of a centimeter.

o - = 2 d cos F e
164 em {fﬂ: 33;’)%4- (8.2 203.5X8.2) Cog 60
) 16.6cm o= 18235 + 331.24 - 4Al.4 (©.5000)
) 16.8 cm -P':'-—- 5\3["*{:’ i 1,__,‘5-—}
£2= 267.79
£ = V27179

L= 16.4Cm
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Cos D= e?+ £ d?

2 et 2 :
coS D= (ie.a)=+(21.o)—(2:s.q5
D 11 mADEF,d=239cm, e =168 cm, andf=27.0 em. cosS D= 23222&1.%132?&2359;:; 21

Determine the measure of £ D to the nearest degree. Yo,
CosD= 440.0'5 %
07.2
A) 54 B} G40 C) 580 >
_& 12, How you would determine the indicated angle measure, if it is possible? cosbh= 0. Y 8 50
D=6I1°
197 B0 ” |
. A\".B 6\66555 l\gWO‘F @S\ncs
i)
18.8
the cosine law

B) not possible
C) primary trigonometric ratios
D) the sine law

A 13. Which one of the following equations is valid? -
(180-0)

(A} cos 36° =—cos 144° *CQS@"—"’* _COS:

B) cos 36 =—cos 36°
C) cos 36° = cos 144°
D) none of the above

ﬁ 14. Calculate sin 16” to four decimal places. Predict another term that equals sin 16°.

A) ~0.2756; sin 164° Sinl = 0-2."?:@ )
0.2756; sin 164° *Slf\ @ - ‘S\ﬁ \%O -

C) 0.2756; —sin 16° » 4 o

D) noneofﬂl_:l:bove 6\\"\ 5= S\n e+
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A s

A

A

Calculate tan 25° to four decimal places. Predict another term that equals tan 20°.

@ 0.4663; —tan 155° +on 25°= 0.46k3 |
Bt % done= —tan (80-0)
D) —0.4663; —tan 155° tapn2s’= - Tan 1S5S

Which set of measurements can produce two possible triangles?

@) 24=48,a=42mb=50m h=bsinA h= s0sin4g® h=23.1

B) s4=48a=82m,b=130m .‘*Sihcg h < a < b
C) £4=48°0=52mb=70m b +eian \Cé»
D) /4=35%a=108m, b=80m Lo 2. POSSIDIE \ S

In APQR, 2P =18, q=4.5m, and r= 6.0 m. i
Which statement is true for this set of measurements? i 3 L}

¥ No matrehing pair
@ This is not a 554 situation.
B) This is a SS4 situation; no triangle is possible.
C) This is a 554 situation; only one triangle is possible.
D) This is a S84 situation: two triangles are possible.

. Determine the indicated angle measure to the nearest degree.
st B cos A= ﬁ{wﬁ-c -o®
2BeE 2
4.2me S‘G:m c OS A = ('14.{2:)3-\'- LQ_-S)%- (S«QJ)
.23
cos A= l.eH +6.25-31.36
i - =1
A) 101° 247 21\
B) 106° =
o lS e B
@ e cos A o

s A= —0.3557
c© A= cos™ (—0.655—]')

A=111"°
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Problem
19. InAPQR, /P =55° /Q=77° and p=4.5 cm. P
Solve the triangle. Round angles to the nearest degree and sides to the nearest tenth of a centimeter.
Show your work. Q. =_P ... = B
<R=180-55-77° SinQ sSinP SinR  sinP
[ =3 . o’ .
<R=49% = S5 r 4.5

SinTI® SinsSs® Sin48® Sinss°

q SInS5°= 4.5SinTT® - §ins5*= 4.5sin"48"
SIASS® SINES* sin5s° SINSS°
q= 8.43cm = 4.lcm
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\}bﬁ\ :om
20. InATUV,¢=6.0m, u=7.6m,andv=8.0 m. P
Solve the triangle. Round angles to the nearest degree and sides to the nearest tenth of a meter. T N2 H
Show your work. 4 2.2 B-0™
Cos_r': uz-}-v‘:'... -tq‘ cos V= t_;LL;}{
2uv - a Z'EU. 2 2
cosT= (1.6)2+ (3.0)-(6.0)" cos\ =(6.0+(1.6) ~(3.0)
2.(1.)(3.0) 2.(6.0)C7.6)
. E %5‘3{ N .
cos T= %o lb = 29.
V.G cosV _5__‘:_’253 o
COST= 0.71053 cosV= 0.3363 U=180=45=71\°

T=45° V=118 u= 6H4°
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21. A triangle has side lengths of 4.9 cm, 5.6 cm, and 9.1 cm.
Sketch the R'angle and calculate the measure of the largest angle to the nearest degree. Show your work.

s se Cos A=b*+¢*-a”

H.QA 2.bc r "

B ¢ cos A= (6. +HN=-CA.1)

q- 2.(5.6)(H9) -
* 1\9"865_" A“Sle cos A= 31.3¢ + 2+.01— 828!

IS opposiTe L 54.88
i\grscs'\' Side. Cos A= _-:%_z‘gé;.} o
CosA=-0.5000 A= 120
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22. While golfing, Valerie hits a tee shot from point 7'toward a hole at #. However, the ball veers 20° and lands at
B. The scorecard says that H is 320 m from T. Valerie walks 200 m to her ball. Sketch a diagram of this
situation. How far, to the nearest meter, is her ball from the hole? Show your work.

H : B +2= b*+h*-2bhcosT

: 1£2= (320)* + (200)*- 2(320)(2.00) Cos 20°
b h £*= 102400 +H0000 - 128000 (0.9397)
o™\ f200m 42 142 400 - 12023816
£r= 22 1184
) L= \22.118.4

—E_—_: %"jt%.jf”i'\:) ]I_\qm

\Volerie’s ballis 149 m Hom
+he hole.



	Page 1: Jan 12-9:10 PM
	Page 2: Jan 12-9:11 PM
	Page 3: Jan 12-9:11 PM
	Page 4: Jan 12-9:11 PM
	Page 5: Jan 12-9:12 PM
	Page 6: Jan 12-9:13 PM
	Page 7: Jan 12-9:14 PM
	Page 8: Jan 12-9:14 PM
	Page 9: Jan 12-9:15 PM
	Page 10: Jan 12-9:15 PM

